;  Which of the following physiographic regions of | 4

The compound interest on ¥ 4,000 at 10% per
Rajasthan share’s’its boundary with Madhya

. annum for 1— years, interest compounded half
Pradesh?th ‘ ' i yearly Y "
f::z: : :e:t;);ogrproprm e answer from the | 24 oop_r{t}_ TEHRIT10% Enﬁa;at ﬂ s
(A) Western desert plains region . mﬂﬁwmm%
(B) Semi-arid region ' (A) - %.630.50 (B) 2600
(C) Aravali region : 59)’ '% 620.50 (D) 625
(D) South-eastern plateau region (E) Questlon not attempted / 3133131?!' u4q
(E) Question not attempted
E;i:? o Freafiaftaa § & - i &6 e @The difference between the compound interest
ﬁ%”%gm%w "3?' 4 and the simple.interest on a certain sum for 2
(A) wferdt ereref Sy éﬁ years at 10% per annum is ¥ 700. Find the
B) gﬁw a3 - compound interest on the same sum at the same
(C) SaEch & ' rate for 1-12- years when interest is compounded
by <Ryl gl & half yearly.
(B) SgaRa | ,

@nﬁrﬂzéﬁfaﬁrlo%mﬁaﬁt%aﬁ%m

2 Tropic of Cancét'Pésses through which of the T TR0 SATT 7 31 T 700 &1 ST TRT g 3t

following regions of Rajasthan?

| at%l‘—a&mammmﬁaam
Choose the most nppropnate answer from the srdafien TR ST Rl
options given below . - & 211,075 @) xizsais
(A) Sirohi - (B) Bhllwara . © erzsings R
(C) Jhalawar “ (D) Banswara
(E) Question not attempted (E)

Question not attempted / TR 7
aro%’(@ Trerr % Frafafea # 4 fra &7 3 B

6 At what rate of compound interest per annum will
%q\%aﬁaaﬁmiiﬁmffﬁmaﬁgﬁm T a sum of ¥ 5,000 become T 5,724.50 after 2 years?
a) T @) TS - arafe s o Rrw i W 5,000 Frafn 2
(C) FEEE APy SwEe T TR 5,724.50 B T2
(E)  afa s (A) % B) 6.5%

3 Which of the following regions of angsthan © 175% .(B) 7%
shares its boundary with Gujarat state? (E) Question not attempted / STTANT W
Choose the most appropriate answer from the |
options given below: (B) Pali 7 What number should be subtracted from each of
(A) Chittorgarh ©) Nagaur 15, 28, 20 and 38 so that the resulting numbers
©) Udalsl:l“;n ot attempted are in proportion?
(E) Que 3§ o T FA-AT 8t T T & WG 15,28, 20T 38 & weder & -y e
T S o ST S oy it €2
Ay 3 B) 6
© 4 D) 2

(E)  Question not attempted / AT I
2 [ ‘Contd...




The Nagoya Protocol in ,access .ang benefit
sharing was adopted under &S aggis of;

Choose the most appropnej answer from the
options given below:

(A) The Zoological Surv@\pf Tndia
(B)  The convention on Biglogical | 'Diversity

(C) Preinvestment Surve?”tif Fotest Resources
(D) National Centre "f8r . Biotechnology
Information SRR
(E)  Question not attempted
ERCCOr i m?hzrﬁ =Ffren Blcico)
% Ifaia iR i
Frefafas e T @ 3173?53?1‘(3%
(A) WG wToft gareqor o
®) SEfsfawrafr (o
Q) T e wd HE B frRts
(D) AT e BR AR ST
(E) qufa e Q
9 First ‘National Space Day’ (vas observed on 23
August 2024 because:

Choose the most appmpng;g answer from the -

options given below:

~ (A) India became the fou country to land on

the moon and the firsl;@areach the Southern -

Polar Region on 23"gggust 2023

123" August is the birthday of Father of
Indian Space Prograrifie

23" August is the daR: of foundation of
ISRO e

Indian MARS Miss% was launched on
23" August

(E)  Question not attem pted

»WWW%Hzmmzoznﬁa‘ﬁ
AT T

frfafaa faredt 9 Iugh I IA:
&) uE fam o iz qp Enara'g?-f%ﬂ‘ﬂ‘“

aﬂtzsmzozsmﬁwﬁga%wﬁ@
TTAT U&EAT 397

2 maﬁwaﬁ;m%ﬁmm
Sl

23 mﬁs«ﬁaﬁw .
TR 3 HITST ST o 23 sy T

[Sell
®) AR we

DEF-Bl4] §

1R

(B)
©)

D)

(B)

©
®)

1528 1] 200 28
L I 3Y

16!

10

11

12

- Hafirage

The state animals of Rajasthan are:

Choose the most appropriate answer from the
options given below: &=

(A) Tiger and Cow Q

(B) Tiger and Came';

(C) Chinkara and Camel il
(D) Camel and Black-Ranther
(E)  Question not attétfipted 'Bﬁ
TIEIH T a §: () 2
PrefiaRee et & & wartfor I9GH I G
(A) v

(B) <far3iRe @

(D) I AR FET s
(E) Iuf@yy ﬁ %—#—f"

Which of the followméq%vers is associated with
the Bay of Bengal drang%e system?
Choose the most. ,appropriate answer from the
options given below; .
(A)  Jakham Chambal = 19
(©) Mahi Sabarmati
(E) - Question not attempted
Pt i #-dt e B ardt s dT
<
Freferfias foedt 3 & #fae Joge s i

(A) 3!1'@1{
B

©

(E)

Which one of the follo\ﬁhg rivers does not flow
in Rajasthan" i

Choose the most approgriate answer from the
Options given below:

(A) Subarnarekha (B)
(©  Luni

(E)  Question not att

Rreafae & @ -4 14

s)w 3 ﬂ‘“

*s”
s B

mﬁm

Mabhi
Banas
ted

" IYgfia 94
25 2 1T 38
by 3

[ Contq,,

2500 Fyw 3"



14

ich of the following National Highways pass
Whie
13 shrough Rajasthan?

choose the most appropriate answer from the

options given below:

(A)
(B)
©
(D)

(E) Question not attempted
Fafafas 3 ¥ . TSR Tomnt wrereens &
ﬁu%ﬁgaﬁm‘ﬁﬁﬂaﬁhaatrgmmgﬁ:
(A) T Tt s - 208

WBY T ot g - g

©) “@?Wﬁmﬁm 10

©) T Tomm e -

National Highway no - 208
National Highway no - 4
National Highway no - 10
National Highway no - 11

(B) gafawy

Identify the Rajasthani player who represented
India in Parig Olympics 2024. p
Choose the most appropriate answer from the
options given below:

(A) Lalit Kumar Upadhyay

(B) Maheshwari Chauhan

(C) Neeraj Chopra

(D) Aishwarya Pratap Singh Tomar

(E)  Question not attempted

W 1 fafafire fora: '
Freferfr et 3 & wratfers swge swo g,

“HA)  afer gER SuTET
(B) urRw dem
(C) R <=y
D) T yarg fig d
®)  sraf@ gy

DER _ .

15

16

<l

In which -of. the followin

& games huq N
Chaudhary of Jhunjhuny (Rajast
at Macau, Chijna in June, 20247

ikit,
han) wop Medy),
Choose thé'most appropriate ap

Swer from the
options given below:

(A) Gymnastics

(B)  Sambo

(C)  Chess

(D) Badminton

(E)  Question not attempted
mmmmaﬁﬁﬁﬁnﬁuﬁ%ﬁwﬁwﬁga@ﬁa
ey RIS, i 3 5, 2024 % e s
Frforfan fiepedi ot g i Jugw s
(8) Rrenfes

(B) W= gma)

©  Iaiw

®) efifer

() srgafa wy

Sh. Bhajan La] Sharma, CM of Rajasthan '

represented which constituency in thel6th
Assembly?

Choose the most appropriate answer from the
options given below: °

(A) Sanganer
(B)  Shahpura
(C) Siwana
(D)  Rajsamand
®  Que

Question not attempted

TSI 35 it st rre v ot 164 et

ﬁ%aﬁummwwwﬁcﬁﬁmmﬁ?
e e & sratfres s 30
AT iR
(B) ey
©) faEm
(D) TSTHm=
®)  gafe s
|Con‘d"'
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17  Which party has won. Banswara Parliamentary
constituency (Rajasthan),in the 2024 Lok Sabha
Election? e
Choose the most appropriate answer from the
options given below: "' ' ' .

(A)  Bahujan Samaj Party ' .

(B) Bhartiya Janta Party

(C) Bharat Adivasi Party . .

(D) Indian National Congress

(E) Question not attempted ’ .
2024 & SwET I A fRE o Y sigarsr
(ORI S99 87§ St ymw 2

it foaeedt 3 @ waiféres soge s g
(A) S |9 UTet

(B) WRAR ST Ut

Yeyvra snfeamdt uret

@) I IEawEI

(E) TFaRayy

18 A sum of T 1,800 is divided among A, B, C so
that A gets % of C’s share and B gets %‘ of A’s
share. The share of C is:

X 1,800 7 AR Y A, B 79T C F 36 YER A TE

AT CHma Z T BH A HH >
m‘éﬂ'l%lcaﬂqm%;

20 How many parts are there in the stomach of a
camel?
Choose the most appropriate answer from the

options given below:

(A) Five

(B) One

(C) Two

(D) Three

(E)  Question not attempted

TF Fe o A F fras yrra &2

Fraferfia foredt # & warifaras suges so =5

@) o= A C 6 A

%? W 7 B %

(D) o= =g;c.4:': c -1
: 7 o B S

(B _agaﬁ-cmir_ﬁ: A c a3y

' 21,60 8

21 Bleeding from all natural orifices and distress
trembling is important clinical symptom of whic

of the following diseases?

(A) T600 (B) 1,000 Choose the most appropriate answer from the 3
oe
Eg 4 900. » ~D) T1,200 _ options given below: 3,‘3#6'1 3(\
Question not attenpted / At $ (A) Black Quarter -:é.f;
19 The process in which the superior males of one (B) Hemorrhagic septicemia 168 O :
breed are mateq wyigpy the superior females of (C) Rabies -
3"“‘& breed is caljeg: () nihms
opt(i’:::gtif ml:;s]t appropriate answer from the (E) Question not attempted
€n [ ow: .o - .
oclow: . Wi O § T 3 et
(A) Inbreedmg (B) Out breeding H\ﬁﬁ R frg AT wEwget mﬁ
(C)  Back Crossing (D) Cross breeding e e
() Question not gyigmpreq . I &2
xmﬁ“ﬁ@m%%mmwﬂmﬁ Frifafea foremedl 3 & waifies suges swogy,
qua?;ngsrm%, asaaﬁ.%:;m (A) = T e n
(A) S )= TR 275 8
(B) T wory ©) W= - . Y . &\
© N e ey ey (D) i e
2
AD) ST (v sy ® st T8 29 ar—
B TR gy Contq, 82
DEF- B14) [ Contq,,, -\::bx ~
a % R R (ST & @;‘I:L
. C+Zx .y A 7\1'_ > ¥ 3 e o .
&’ -
A e =N




Which party has won. Banswara Parliamentary
constituency (Rajasthan),in the 2024 1 ok Sabha
Election?

Choose the most approprl'até answer from the
options given below: '

(A) Bahujan Samaj Party" '

(B) Bhartiya Janta Party: « - -

(C) Bharat Adivasi Party .,

(D) Indian National Congress

(E)  Question not attempted

2024 & SR AT § R wE ¥ awarer
(=) 63 &5 & g e

Pt foraredt # @ waifars soges swog:
(A) g g9 9t

(B) RN SHar gt

e yra enfeard ot

D) ReEF T w0y

(B) rgaia sy

A sum of T 1 800 is divided among A, B, C so
that A gets 7 of C’s share and B gets 7 of A’s
share. The share of C is:

Z 1,800 FT URTHT A, chﬁmmmﬂé
5 AR CHWITH 2 quTBH A H v o
TTH EXaT 81 C T I &:

(A) T600 B) 1,000

(C) T 900 AD) T1,200

(E) Question not attemipted / START ¥ -

17

Vot "
e '

18

The process in which the superior males of one
breed are mated with the superior females of
another breed is called:
Choose the most appropriate answer from the
options given below: 4
(A) Inbreeding (B) Outbreeding
(C) Backcrossing (D) Cross breeding
(E)  Question not attempted
e wisran @i u T & 9y T gadt 5T h
9B WTET & WHITH KT ST 8, FEelrel 8
freaferfian fashedl & & watfires Iuge ST
(A) SIS
(B) SRS
(C) eI FHHT (aai'aﬁﬁ’T)

D) RIS (R shifgm)
(E) :ﬂgﬂf(ﬂ aa

pEF-B14] &

19
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21

How many parts are there in the stomach of a
camel?
Choose the most appropriate answer from the
options given below:
(A) Five
(B) One
(€) Two
(D) Three
(E) Question not aftempted
TF $T % AR F foar w21 &
frefafea fomedt 3 & waifire suge saca:
@ = A 6 A
EpLLT M
(D) ?hq - sk c A
L LS
»(E) mﬁasrfr_‘__ﬁ; s ’3‘3,,1_.
' 21,67 9

Bleeding'from all natural orifices and distress
trembling is important clinical symptom of whi&f,3
of the following diséascs?

Choose the most appropriate answer from the 3

Jsge
A

options given below:

(A) Black Quarter -:gf_:'*
(B) Hemorrhagic septicemia 17‘58 o !
(C) Rabies == =~
(D)  Anthrax

(E)  Question not attempted

Wit wwfaw oF ¥ A iR St o

ﬁa%ﬁgaﬁammw.mwm
T 2

%ﬁﬁﬁﬁmmm@

(A) R

CB)— Reiiefiren Attt S8 !l g

© 07N

(D) e \7,' “ J &

() argafawa _3—’3\1\\
[ Con 4—5’“

=B '9_‘1 R SR i -S\%“’(@

¥ i3 -
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. DEF-BI4 ] @

. ﬁm%ﬁaaﬁwﬁﬁ@rmﬁ&a;mmﬁ

—D)

. qmg yfEEr (mmﬁmaﬁ@m
ﬁmﬁa@ﬁﬁwﬁﬁﬁmfjﬁmm g
(o 1973W (B)

Foot and mouth discase in cattle is caused due to

o

te answer from the

infection by

Choose the most appro
options given below: N

(A) Fungi (BYO Bacteria
(C) Virus (D)"‘ Protozoa
(E)  Question not attempled

LAY & G- HEuHT T T T
A

iR fararedt 3 & wralfie suge swog:

(Bf2 sy (i)
Srere

HEHHIT

(E) Igaia s W0
] . r_’

Grooming of calves is doffgito:

Choose the most appr:b}sx%te answer from the
options given below: ‘
(A) Keep'them clean 8 :
(B) Getfibre fee)
(C) Avoid licking O ‘
(D) Decrease blood cir&ﬁation
(E)  Question not attempted

S g A R o

(A) 3% =3 WA T
(B) m@mmm%@m
(C) wRABTEES N
Toh it & FmEE F fag

(E) rqafays :;.

‘Project Tiger’ was launcfx:e’d in:

Choose the most appropriate answer from the
options given below: o

(A) 1973 ( 1962

(C) 1968 D)\ 1970
(E)  Question not altem(pqed

1962 3

(C) 1968 1 (D) 19703

Sy 9y

25 Which of the followipgjis 0ot a forest gy Wig

resource? ... Q)
Choose the smost. appropriate answe, frog
options given below$ ()
(A) Protected foresd
(B) Reserved forcg
(C)  Unclassed forests
(D) Indigenous fogs
(E) Question not aftempted
ﬁﬂrl%—ﬂha Lk ﬂ?-ﬁﬁm AR Tt e
& o
ﬁﬁ%@aﬁﬂﬁ#ﬁﬁwmmﬂ
(A) W g
B) W .
©) iiFaas ©
/aar T ) 3
:ﬂﬁl’mw o™
_ o
26  Animals whose nunthgts are reducing © sk
that they might face Qinction are known 5
Choose the most awopriate answer from *
options given belowss
(A) Endemic specg?ii
(B)  Endangered sp&dies
(C)  Extinct specie:%i
(D) Susceptible sfecies

(E)  Question not attempted fb
O g et e e
3 e s e & e € g
Frwirftan et f Qfraffam sg™ o
(A) e snfeted
AB) W=
© fogwfiat i
(D) e sfwit
(E) rgafawe C""‘J}
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Which of the following Statements is not correct
about laterite soil in Rajasthan?

Choose the most apprdﬁria‘te answer from the
options given below:

(A) It is formed by- the" crystalline and
metamorphic rocks, * " ¢

(B) This soil is found in Dungarpur.,

©
D)
(E) Question not attempted -

Frafefea # Hi-a1 wuT oorm f Neuge g F
TR T 22
FrafaRea fared # & waffaw suges soog:
(A) TR FEART T @R T & SR
(B) T& &I RUTH U STt 21
oz 37w 7t Iufafy % R0 97 T TR
T |
g mﬁmmﬁmwmén
(E) Sgui@yy

It looks red due to thé presence of iron.

It contains enough quantity of phosphorus.

Arrange the following 'disu;icts of Rajasthan in
descending order according to their literacy rate
(Census 2011):
a. Churu b. Kota
c. Alwar d. Sirohi
e % FrerfeRaq firelt 1 areRaT &% (20119
SETIVAT) o gAY § oAafierd &

X T
c. AT d. et

Choose the most appropriate answer from the

a. = b.

options given below:

3 feq e fareredi & & warifires guges ST
z(ﬁ' b,c,a,d (B) d,b,c,a

(C) a,b,cd (D) b,a,cd

(E) Question not attempted / 3 a4

DEF - B14 ] 8
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30

31

“Vijaya Stambh”, located in Rajasthan was
constructed by?

Choose the most appropriate answer from the
options given below:
(A)
(B)
©

Bappa Rawal
Mahmood Khilji
Rajaraja Chola
(D) Rana Kumbha
(E) Question not attempted
Terea § Rya “fsg T 1 fmfor fas gra
ERCIDIRIC Y
frafaftaa faeredt & & waffas sugs o Ty
(A) FTEA
®) e st
(C) TS =
Dy TOMEFT oo

(E) SAqafays

"A shopkeeper sells an item for ¥ 900 and suffers

aloss of 10%. To ‘earn 12% profit, for how much
* should he sell the item?

Teh GHMER fordT a%g T ¥ 900 & sr=ar @ S 3d

10% T 21f Bt 81 12% &N 3Sa T = forg 38

T For 3 ST R
(A) T1,100 (B)
A6 T 1,120 D) T1,112

(E) Question not attempted / AFaRE W

Nikhil sold an item for ¥ 1,425 and suffered a loss
of 5%. For how much should he have sold it to
eam 10% profit?

e 3 ok ag 5% wfF F w7 1,425 ¥ sy
10% T arfiia F & foe & 78 =g fray
ety wif oft

(A) 71,662 (B) %1,638.75

© 21,642 —D) 1,650

(E) " Question not attempted / AT sy
[Contd..,

0o
7‘7’16:1\ 20
Z 1,098 ¢
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33

34

A shopkeeper sold an item for T 960 afier allowing
20% discount on the marked price. What will be
the selling price of the item if he gives only 12%

discount? O

T eRIER Y ] ¥ ifr T W 20% T FE TH
IR T 960 F I 7Rk 77 ot 12% A G AN I
TgFRFA @ g™, |

A T1056 (B) T968

(C) T998 D), T1042

(E) Question not attempted / Mﬂﬂﬁﬁ' T

]

In which folk theatre for:mEis _‘its artist called
‘Behrupiya’ (Impersonator)? |

Choose the most appropriafe answer from the
options given below: S

(A) Tamasha (B)l‘.»'Swaang

(C) Gavri . (D). Ramavat

(E) Question not attempi%ed

fep e i el i e T T T
Frerfefa et & & wrariferes g s g
AA) TERN B) wm

(c) @} A

(E) HAgaias s i

Where is the Keoladeo :;Ghana National Park
located? "

Choose the most appmp;iafe answer from the
options given below:

(A) Udaipur (l{) Bharatpur

(C) Sawai Madhopur(}) Dholpur

(E) Question not attempted

ST AT T S 6 e &

e Feedt o & e g e g,
(A) IR Bf AR

© wadamg (D) ey

(E) 3ruiaws

DEF - B14 | 8
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36

(A) Junagarh

(C) Mehrangarh

(A) OrTe
- (B) TR

DYy ARG (3R)

@

Which fort of Rajasthan was teferreq g
‘Second Gibraltar of th&World*? '

Choose the: most apprgﬂiate answer fry,

options given below:

(B) ' Nahargarh

04162

(D) Taragarh (Ajmer)

(E)  Question not attefupted
W%m%ﬁ‘%m@mg‘
STTE?
ﬁmﬁrf@aﬁmﬁiﬁﬁr}ﬂfe}a;awgmmgi

2

|
(© TG

(B) Aty

62800 04

Which of the followiné\ﬁ!triéts of Rajastia®

. ingto®
the highest sex ratio in @l area according”
census of 20117

-Choose the most ;pp@riate answer fos?
options giyen below: (08

(A)  Jhalawar N

(B) Ganganagar ﬁ

(C) Pali <t

(D) Jaipur o

(E)  Question not attempted ﬁqﬁmi
2011 ﬁm%ag@wwﬁa‘n ¢
¥ forr foret =1 wmeftor Syt AT aafﬁ;
PR R o4 Qe 307
@ woms O

(B) WmAT® <
£©) ur=ft o

(D) AR

(B) gufiawy ¢ ol"d"



37 In which of the following arcas of Rajasthan,
Salar forest is not found?
Choose the most appropriate answer from the
options given below:
(A)  Ajmer (B)  Udaipur
©) Jaisalmcrm (D) Prali
(E)  Question A attempted
P ol 5 e b e g
EICRY: <
et it & wrartfires g s g
(A) 3FER o ®
AC) WWER S (D) W
(E) i@ w0
N
O
38  Which of the follayving trees is not found in the
tropical thorn for&sts of Rajasthan? '
Choose the mosgz ppropriate answer from the
options given below:
(A) Bamboo ¢z (B) - Rohira
(C) Kheji OO (D) Bair
(E) Question QY attempted
Frafafaa 3 I TSI 5 mﬁmﬂﬂ
maﬁﬁqﬁmaﬁﬂ
mﬁﬁﬁmmmgﬁ
AK) ¥ (B) fesr
© T o O XN
(E) ai@yd -
oe)

39 Name the fort b& by Maharaj Surajmal in 1733.
Choose the mogtappropriate answer from the
options given beldW:
(A) Gagron féP (B) Jalore fort
(C) Lohgarhfort (D) Churu fort
(B) Question fiot attempted
1733 & HES T Ffife frey a6 A 8-
P - Frrtfires g STCL:
(A) MARRED  (B) el fRer
<7 aﬁmﬁm' (D) & forem
® s

DEF - B14 3
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40

41

‘e Anfifiram

~B)

_(B)

&)

Which famous temple was constructed by the

legendary Bappa Rawal in the 8th century?
Choose the most appropriate answer from the
options given below:

(A) Rishabhadev temple

(B)
©
(D)
(E) Question not attempted

gt wrarsdt & aonr wae gm0 fRe wRg afet @
Frerferfae R 3 & rarfires suge sao
(A) T T

LERUEI R T

sfTerstt Af=t

ST At

i vy

[
|

Eklingji temple
Shrinathji temple
Jagdish temple

©)
D)

Stainless steg:al is made by mixing iron with
a. Carbon | ; b.  Nickel and chromium
€. Magnesium' d. Manganese

Choose the }mlrst appropriate answer from the
options given below:

(A) 'a,banddonly (B)
(© bcagddonly (D) a,canddonly

(B)  Question not attempted

R her 3 i e A v s s
2 i

a. FE ,

a, band ¢ only

b. i wifry

d. Al :
1 R e ot 8 & wffirs swgem sy,
(A) %ﬂ'ﬁa,baﬂ(d

(B) aﬁﬂq,baﬁ(c

Faer b, ¢ 3 d

Faet 4, ¢ aftd

Hgaia v

(D)
(E)

[ Conta...
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42 When vinegar is added to baking soda a gas is | 45  Which of the following Statements g Not,
liberated which when passed through lime water about the climate of Rajasthan?

makes it milky. The gas is: Choose the miost appropriate answer fro,

Choose the most appropriate answer from the options given below: e
options given below: Sy . ;
A) The western desert rec .,
(A) Nitrogen (B) Hydrogen (4) e CCEIVeS  minjpy,
(©) Oxygen (D) Carbon dioxide rainfall with annual average of 25 om,

(E) - Question not attempted - (B) The  average rainfall is not high 5

S S dter ¥ Rren fremar s & 6w

Rajasthan because it is located j te

ﬁmﬁ%a‘raj%‘wﬂﬁsaﬁa%qmﬁqrm | interior part.
Pt Atad: ; ;
PN : - ﬂei: (C) The extension of Aravalli range j
) o R -(B) :?I _ perpendicular to monsoon winds,
®) gafaws - ' AN received through mavath,

43 In which of the following areas of Rajasthan tﬁe ® ngsﬁon ot attempted \
desert soil is not found?-: : F-a1 HaEg e
Choose the most appropriate answer from the ﬁ?ﬁﬂ':{é’f%‘?
options given below; ' - . I mw&ammw
©) e o BRRNCSIR - AV o

agaur * (D) Jodhpur T sftea .
(E)  Question not attempted - ; 25#‘#%' ‘ :
T 3 P 38 o e g | @) T it wt s v d i @
ﬁmmﬁﬁama@mgﬁ, L AO) FTEh siwen v e aeh W
S ® =« SR |
© R @) g D) ¥ g ¥ Aras @ sirgt awf yw A
(E) sqaf@ws - .
° ) \ (B) iawy
44/ Which one of the following wild life s tuari . :

@ is not located in Rajasthan? , e 46 Which ‘ofthe following is votanafioyd the | ®
Choose the most appropriate answer from the | - Choose the moss GPpropriate answer fiom
options given below: . options given below:

.(A) Ram Sagar (B) Ramgarh Vishdnari (A)  Stainless steel (B) Mercury
(C) Bhensroadgarh (D) Bhimgarh . - (©) Brass (D) Bronze
(E) Question not attempted . (E) Question Dot attempted
Foafafiaa 3 wa- I ' X P
vy U ST S Sorer FreafiReer 3 & eref forrearg et 7
ﬁwﬁhﬁgaﬁaﬁﬁﬁmff:}wzmmiﬁ, PR Rt f & sratfares sges ST F
A TaEET (B) g Rryyrg- A TRy et @0
©) ey ) g : ©) dew (D) =i
(B) gafmuy (B) rufer gy - DEF
DEF-B14] 8 10 : { Contd-"




47 Which of the following non metal is a conductor

48

- —0)

49

.DEF. g4 & ©

of electricity?

Choose the most appropriate answer from the
options given below:

(A) lodine (B)  Sulphur

(©) Graphite 2 (D @a

(E)  Question no empted'

frfafes 1@ 2 3turq foree Rt s 29
&

e famea JUGH S

To remove farsig]
spectacles fitted wj

Choose the most @ppropriate answer from the
options given belo%f)

gdness defect of eye we use

(A) Convexo-Céitdave

(B) Concave len

(C) Convex lens

(D) Bifocal lens __ . .
(E) Question no empted :

3l A Y i 3 R P
TEE T ER Y
(A) FATEFA
(B) aaaaa@iv%
ERRESTED

et <ha &
FTaRa v ©

o L
Which dialect of th€)Rajasthan is spoken in the
region of Churu? N
Choose the most appropriate answer from the
options given belowy
(A) Hadoti O (B) Wagadi
(C) Malawi (D) Shekhawati -
(E) Question no mpted
ST 3 8 - et et e 27
@A) wdft  N®B) T
© wt  \Oipy g
(B) orgaiayw ';!

(D)
(E)

Y

50

51

52

" Choose the masy appropriate

“Rane Jagpat ra Marasya” was written to mourn
the death of-

Choose the most appropriate answer from the
options given below:

(A) Rao Ind{bsingh

(B) MaharagtyKumbha

(C) Maharafi)Jagat Singh

(D) Sant Na‘%&ev Ji

(E) Questiog_qot attempted

T ST T AT Fohereh T o1 ik Wehe et
fere foram mame -
Freferfia famredt & & wrartfors Fuges sa0 -

(&) wET=fie ~{B)  WETIu e

(©) wewn Sita Rig (D) wa AR <t
® sy

O
“Jeen Mata”s~fhe eight armed goddess is
considered the'j”ﬂcamation of which Goddess?
Choose the m%?t ~appmprians- answer from the
options given below:
(A) Saraswafi” . B) Durga
© Lakshmw e (D) Gayatri
E) Questiogwot attempted
AT et st

‘Teej’ festivalCht Raja;than is celebrateq in the
month of - »

o answer from the
Options given Blow:

@A) Phalgu> (g, th;avan

©)  Chaitra (D) Kartik
(E) Questiogrpot attempted
“qum*m'%qmﬁwmﬁ
ﬁﬁﬁﬁﬂaﬁ&mmﬂ; ;

B qﬂ?’{!" O ATauy
W D) we
®) s

: o

[Contq,



] . . e i To which area of Rajasthan does Shree [ .
the Kapil Muni fair held on Kartik [ 55 al Jogp
53 Whﬂ? s | P a Phad artist belong ? 2
Poornima? Choose the. most appropriate answer fron the
Choose the most appropriate answer from the options given below:
options given below: (A) Bhilwara (B) Jaipur
o g (C) Jhalawar (D) Kota
(A)  Rewasa m Sikr (E)  Question not attempted ‘
(B) Chaksu in Jaipur mweﬁmsﬁ?ﬁwmm%h
(C) Kolayat in Bikaner CER Ry
(D) . Diggipuri in Tonk  Frferfe Iililiiriii &4 walfis 3oy ™ 3T .
_ Ay fierarer (B) SAR
(E)  Question not attempted (©) zraTErE (D) T
rfeies qfotar = Ffrer gf e et ear &7 (B) ¥ruita va
Freffea fraedl & & waffare sgaw 1
. o FFIRY 56  KeoladevNational Park is famous for )
(A) !ﬂ?w‘tﬁm'[m“‘“-“ Choose the most appropriate answer from the
(B) SR =Ty - options given below:
e F R . (A) Elephant conservation
/(CT‘ ‘a’ 3 it (B) T
< o n ow _ iger conservation
(D) aﬂ?ﬁ.lg "Efl n . (C) Migratory birds -
(E) STafawy : (D) Lion conservation
. (E) Question not attempted
) FTART LTI F oy
54  The article of Jewellery called “Borla” is womn by ﬁq%ﬁaﬁwﬁﬁ&maﬂgﬁwﬁ:
the Rajasthani women in (A) - greft dregor B) <rargwr
Choose the most appropriate answer from the AEY” STt wEfa D) i @
options given below: N E) e il
(A) Neck Y { : A 57 ) “Chipko” movement in Himalayan region was
(B) Ankle . held to resist against .
©  Wrist Choose the most appropriate answer from the
o, . options given below:
(D) Head : . (A)  Road construction in hilly regions .
(E)  Question not attempted (B) Hunting
.'EI’RFIT" A T m an. W%anﬁ TR (&) Cumng of[ree‘s
R — _ (D)  Over exploitation of forest resources
- - (E)  Question not attempted
ﬁw%ﬁgaﬁm’rﬁémffba:wgw;mgﬁ: : femrert & F “Fyaar sricres _F
(A) = ' e wfert 3 fra forar mrar e
B ﬁ‘;rﬁ‘-ﬂ‘aaﬁ%ﬁﬁémﬁbwavgmmiﬁ’
e (A) V&R 8t it g fiwfor
‘ © g (B) _ 3m&z (Rrermw 7
| L) fr :g’wmm
| - T WA w57 fy Qe
| (E) FaRa ' (E) rqufewsy
12 [ Contd-:
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59

/

Name the Hindu Saint, also Worshipped by the
muslims as “Ramsa Peer”,

Choose the most appropriate answer from the
options given below

(A) (B) Mehan Mangha
(C) Devanarayanji (D) Ma“lnalhjl

(E)  Question not attempted ..

wﬁzmmmﬁﬁa‘g[ﬁqaﬁ mtﬁtugﬁmﬁ
o &:

AK) THEST (B) e Hien
(€) IR (D) wfermsh
(E) SrJuiayy

What is the colour of the ‘Pomcha’ presentéd to

Ramdevji

the mother of a new born daughter?
Choose the most approp}-iate answer from the
options given below::
(A) Orange (B) Pink-
(C) Yellow (D) Lavender
(E) Question not attempted
mﬂﬁmﬁmmm!ﬁwﬁmmﬁ
PreafrRee R o & wrarfforas uges e
(A) = B) TEwET

L@y e (D) m@é@
(E) FFaRa v \

To which family of musical instruments does the

‘Shahnai’ belong?
Choose the most appropriate answer from the
options given below:
(A) ~ Sushir (B) Dhol
(C) Beat (D) Barrel
(E) Question not attempted
W& aTerdst & fora afam & wefia 82
frafufaa faeedt § @ waifie gugw® W?ﬁ
LAy gRR ‘®) A
© die (D) &
(B) gafass
EF.B14) o

13

61

62

/6) 7

63

In which year was the “Mewar Praja Mandal”

established in Udaipur?

Choose the most appropriate answer from the

options given below:
I 3 TS AT T Y TATI el G2

Preferfaa fered & & wratfas 397w ST
(A) 1940 (B) 1937
(D) 1939

(/C) 1938

(E) ‘Question not attempted / T T

The integration of the Rajputana into present day

- Rajasthan was completed in how many stages?

Choose the most approp;iate answer from the

A options given below:

TG 1 CIT AT T 3 &9 3 e

T g

Frafafaa fawedt § @ waifas sege Iat T4
B 2

D) 4,

Question not attempted / ﬂﬂﬂ'ﬁﬁ BE)

© 3
(E)

Which famous personality of Rajasthan is also
known as “Banasur Ka Shaheed”?

Choose the most appropriate answer from the
options given below:

(&)
(B)
© -

Major Somnath Sharma

Major Shaitan Singh

Lt. Gen. Nathu Singh

(D)  Lt. Gen. Sagat Singh

(E)  Question not attempted

TSI 3 foer e sa et 0t rommege s vt
W T S ¥

FresRofa et & v swge s,
A& ’}*"R‘H’mmm (B) ﬁmfmnﬁqg

(E) Naﬂﬁaw

[ Contd..,




64

Match List-I with List-IL.
List-1 List-11
a. Non-metal used in 1. Graphite.
acid, gun-pgder
and medicifds
b. Non-metal uged II. Mercury
in elcctrodeg
¢. Metal used f)- III. Sulphur
electronic i@-umcnts
and wires
d. Metal usedgi | IV. Copper
thermometér® . .- ’
@-I%W@'lﬂﬁﬁmﬁml
-1 oF 4#‘ 'q;ﬁ.[]
a I, mqmaaﬁt L AEE
Shaferrt F S fir sy
ey oy
b. Eﬁ?ﬁsﬁz‘ﬁnﬁaﬁ IL nwfr(t’:m)
areft amurg 'd‘ ‘
C. Séﬁﬁﬁﬂ?waﬁ( III. 98T
AR 3 392hT i W AT
NS,
d. wﬂfvﬁaﬁaﬁrﬁaﬁ IV, F7% (aram)
el arg O :
Choose the ”'g appropriate answer from the
options given bng _
ﬁﬁzmﬁmﬁﬂmmm@
(A) a-ULbeLc-1,d-1v
® a-Lb-fc.1v,g-1
ﬂ-"»b-(%,c-l,d-lll
‘),(B‘)"'a-lll,ba:c IV,d-m -
(E)  Questiof@dt attempted / ST Wt

DEF - B14 8

14

65

66

Which of the following non-metal reagyg With
concemrated nitric acid (HNOJ)?
Choose the most appropriafe answer frop, the
options givempelow:
(A) Iodife?

[s o]
(B) thsgh‘)ms
(C) Carbd

r={
(D)  Sulphyp
Quesfi?n not attempted

® @ | d
'Shekhawatwgnon is part of which of the
following ph%nographxc division of Rajasthan” | ‘
Choose thegwmost appropriate answer from ﬂl‘k’
options givﬁ?below: ‘
®
(B)
©

Eastern plainé région )
West€td desert plains region
Semi_ZTid region
(D)  Aravél region
(E) 'Quesg_lgfl not attempted 3
TS A & frfafes § 3 7
-SRI e or s 2
ﬁnﬁr&gahweramﬁawmmﬁ
(&) A i T
(B)  hinftarrrch drt sy
oy s am
(D) Sawiigr

®) Nﬁ@w



In which of the following areas of Rajasthan

70 . A . . -
black soil is foun 47 l:iiatch List-I with List-II..
Choose the most appmprm;e answer from " st-I List-II
‘ & Project/festival)  (Place)
options given below: ( (Place
(A) Churu (B) - « Jhalawar a. National park I.  Jaisalmer
(C) Jaisalmer (D) Bikaner b. Desert festival  II. Sambhar Lake
(E)  Question not attempted ' . ¢. Ramsar site III. Ranthambore
wH F iR & Y ﬁRT 8 3 aﬂFﬁ T urd d. Braj Holi IV. Bharatpur
St 87 TEl-1 % e weh-11 1 fremr i
ﬁ%qmﬁwﬁﬁ%mmmgﬁ Hefit-1 Tqh-11
GV B FER OIS0y S )
(€) S D) iR a THmA 1 S
()  Srgaie o b. S Hieaw I g
8 In Rajasthan (SEZ) special economic zone for 5. UHALEAE e TR
handicrafts has been established at: d. sIEl IV, 9aqt
Choose the most appropriate answer from the Choose the most appropriate answer from the
options given below: 3 options given below:
(A) Sitapura (B) Bhiwadi Hra feg e et & & warffares uge SowA:
(C) Bhilwara D) Boranadai (A) a-ILb-II,c-Ld-IV
(E)  Question not attempted ° ‘®B) a-Lb-MLc-M,d-IV
e i e 35 Rrd e s a e 4 a-ILb-Le-Td-IV
ferar mrar @ (D) a-Lb-I,c-NLd-IV
ﬁmﬁqﬁmﬁmﬁﬁmﬁmmiﬁ . . .
(E)  Question not attempted / 3TTART W3
Y g ® fEst v |
€ WHWeagr (D) wwEr o . ) .
E) . o 71 Which of the following cultural/ tourism events
' e > in Rajasthan will a earf'rstmthe ar 1
% Who has been awarded the Padma Shri Award Gile I:dar 3025y PP year (English
2024 from Rajasthan in the field of social work? ch " »
Choose the most appropriate answer from the oose the most appropriate answer from the
options given below:
options given below: ,
(A) Mr. Janki Lal (A) 'Braj Holi festival
f (B) . Ms. Maya Tandon (B) Camel festival
? (C) Mr. Kumar Manglam Birla (©) Kite festival
(D) Mr. Laxman Bhatt Tailang - (D) Baneshwar fair . .
(E) Question not attempted (E)  Question not attempted .
mnﬁamﬁamﬁséﬁmw 2024 TSI ¥ g 2025 (aqﬂvﬂ%ﬁm)a:azmﬁnﬁ
/R g foam mam. ¥ T vt oY AT IW WA Frbry
Eag-pe)
Prefafaa el i & gaffae gagem sw I Y
(A) " 4 STt SRS i et & & s Ty s,
B) v 251 @ TR ®)  Sewe
(©) ot FaR e forgem
P A€) Twmudiwa (D)  wmreR ey
D) sfy T wig E)
(B) sraiass STyt v



72 Which of the following techniques is suitable for | 74
the disposal of bio-medical waste?
Choose the most appropriate answer from the
options given below:
(A) Grcineration
o
(B) ®Reuse
(©) @ndﬁn '
(D) 'Disposal in running water
(E) guestion not attempted
FreferRaa & & S-dt qete S -fafredta smfie
5 Frgin % forg 3 &2
Frefeffge faeredt ¥ @ warffires 3uge swog:
(A) \sgoftETor
(B) % SRl
(46~ Sroniefe
(D) é;%rwﬁﬁﬁm
(E) &afia v
Q0
i N ,
73 Streptbﬁiycin, tetracycline and erythromycin are
¢ 5 the ex@ples of- |
; ‘ Choode~the most appropriate answer from the
r . options given below: '
(A) @Bicteria (B) Antibodies
©) %ﬁbiotics (D) Preservatives
(E) estion not attempted
: ﬁzmﬁﬂwaﬂtzﬁﬁﬂmﬁw
J, Prerfeliéa % 3erewr &- :
| Forecit & raffirs swges e
(A) Szt /shary e b i ‘
(B) @HrIet (wfercedh) =
ey Lt o) " A3 g2
(D) ‘G . %ﬂ %57
(B) "éh-qﬁaw ?3.‘2 v'_%/,\_
DEF Bl4q33 ’ ﬁﬁ\n \:\‘." 16

Which of the following are the ex ples of

communicable diseases?

a Chicken pox

b. Canrc'er /' /
c. Tuberculgsis ; f
d. Diabgtesg
e. ' Cholera \D
Choose the mozt;lapprapriate answer from the |
options given bEldiw« |
(A) bandd 0&13( (B)
(C) a,band conly (D)
(E) Question {1t attempted

Frfafas § @ Q-3 s S o H

b. F ©O

o Wi R

d. Wglw ‘

e. T (FHEDD
‘ﬁﬁqwﬁaw%&ﬁwaﬁbﬁmwﬁ
(A) Faab3if (B) Faela, daiRe
©) ma,b%ﬂ:%&ﬁaa,cﬁ?e
(B) sgafwwx

a, d and e only

a, ¢ and e only

Divide ¥ 1,727%n}o 3 parts so that their amoust
after 3, 4 and S¢years respectively may be equal
the rate of inter&Stbeing 5% pér annum at simpl¢
interest. The second part is;

H- -
% 1,727 B i ot o 5 b tif o 5% S
AT =T 2 R 3, 4 qur 5 ad qgR I¥
Tl s 8 e W R

(A) T600 g q’*“’*"«!hwm‘”
B) 690 (O \L_ =
g |
© =s2 N 53-0 |
T575 oy |
(E) Question@t attempted/:ﬂfﬁﬁﬂ wA ‘i
(225 L [ Contdes |
vi
r ¥ aa T 23y
T

2ol J



)

IRLITYY,
vg ' .

On simple interest certain sum of money amounts

to ?‘18,130 in 6 years and to X 20,090 in § years.

Find ‘the rate of interest.

AT SIS TUHS TR 6 T H T 18,130 8 sirelt

a8 A AT 20,090@W%I%ﬂatmqﬁ|
8.8% (B) 6%

©
®

% (D) .
Question not attemptedﬁjﬂﬁ?r e

<t
Mendel performed hybridizatfon experiments on

plants.

71

Choose the most appropriatq?gnswer from the
options given below:
(A) Onion

(B) Tomato

(C©) Rose

(D) Garden pea o
(E) Question not attempted

A X Taeor oy =% ik acod]
mﬁmﬁ%mﬁﬁwﬁmgﬁ
(A W

B) X

© =
D) T @

() Faiays

041628

0‘4162

80

50

Whlch of the following s(‘%} heterozyg"“s
alleles?

2

Choose the most approprmté.sﬁnswer from the
options given below: vt

(A)  BothTT and tt (B) ﬁ
(% S D) Tt
(E) Question not at_tefnpted ;
 fPefafer & 4 W et
(e St srefita axar d200

Frefifiarn foamedt & & watfird Yage s G
(A) TT3RuEt (B) ﬁ

© Vol

79

&

20 9 0
30
_—J—’/{o"
Match List-I with List-IL. | W }{ ¢
List-I » List-II | ov
a. Phenotype I.  Genetic constitution
b. Gene IL ternal appearance
c.. Genotype III. Not expressed in F1
@eneration
d. Recessive V. cI?’e!ctor that controls a -
character character a8+
agﬁ-l%mmgﬁ-nmrﬁra%@ﬁm R > %
eI - 11 870
a. CIEUIYEY . FETe w18
b, S I Buricau
c. vy I @yﬂz:rﬁ A T 1 643
\o 9’!9
~d. TRt EET IV ﬁaata’rf?mfr 0
T e

Choose the most appropriate answer from the
options given below:

A faw e forredt 7 & warlfye Iuge S g
(A) a-ILb-I,c-II,d<1V -
a-T,b-IV,c-1,

a-Lb-HI,c-1II,
a-IV,b-,c-Id4 I

Question not attemptétl / JiFafta w=r
o

The Bhakra Nangal Project is a joint venture of
which of the i‘ollowing grQup of states?

Choose the most appropriate answer from the
options given below: (e 0)

(A) Punjab, Rajasthan, Ottar Pradesh

(B) Haryana, Punjab, than

(C)  Haryana, Himachal Bradesh, Punjab

(D) Rajasthan, HaryanacHttar Pradesh -

(E)  Question not attempted

WREST A qﬁa‘\'sm ﬁﬂﬁlﬁ‘qﬁ LRCE R (S
HHE UG
ﬁﬁ%{iﬁaﬁwﬁﬁﬁw@wmm

(A) YT, TR, TR

©
)
(E)

W?Ruwn,mnm@

©) wfamm, femrae v

(D) . Ty, giwmm, 3?[5
STt s

(E)

| Contq,




81 -
not associated with Rajasthan?

Choose the most appropriate answer from the
options given below:
(A) Panchna dam project
(B) Sidhmukh dam project
(C) Jakham dam project
- (D) Matatila dam project
(E) Question not attempted
Frafafea 3§ & forw o st sta-afaismr Hatyg
e | Tl &7
Prfae et § & warifiras sugw swe
(A) yiAT | IR
s_B) Tazara =i af@smr
(C) <mEw sty yiEsET
D) - warEET S 9iESET
€) smaRays

82 - Pichola lake is located at which place in
Rajasthan? |
(A) Bikaner
(B) Kota
(C) Udaipur

" (D) Jaipur
(E)  Question not attempted .
fogre st asrear & fove T w e 2
(A) AT
(B) wtar
AT S
(D) SA
() gaiaws

DEF-BI4] & N 18

Which one of the following water dam projectsis | 83

84 -

Match List-I with List-II.

List-I List-IT

(Farm animals . (Caused by)

disease)

a, Anthrax I.  Protozoa

b. Cowpox II. Hypocal¢cemia

c. Coccidiosis' III. Bacteria

d. Milk féver' IV. Virus f

@I%mq\%ﬁ-nmﬁaﬁﬁﬁm

geEft-I gt

(@?ﬁ%m&ﬂ‘%ﬁm (TEE)

a. U= I  YRSET

b.  Tisfiaar I BTgdtahcdifaar
(FTST)

c. FreffEEm  mr sy @dian
d.  fiesdEt Iv. fersmor (A
(ET= v

Choose the most appropriate answer from the

options given below: .

| = R e el & & wraffares suge s
AT a-NLb-Lc-TV,d-1

B) a-M,b-T,c-IV,d-I
(©) a-TMLb-IV,c-Ld-m "

(D) a-Lb-I,c-II,d-IV

(E)  Question not aﬁempted/aﬂm o=

Approximate age of sexual maturity of buffalo
bull is .

Choose the most appropriate answer from the
options given below:

(A) 20 months (B) 22 months

(C) 18 months (D) 15 months

(E) Question not attempted

WY B D whowwr o

Bty
Frefefiea fremec f & wartfre segw s
(A) 207" —~B) 227RE
©) 187m® "~ (D) 15WE

(E) uiawsy

[ Contd-



. Which of the following is . }
¥ bio-gas? 81 Mot a component of | 87  The percentage of total solids in cow fnilk is
l -

approximatel .
Choose the most appropriate ansyer from the PP Yot e

opti‘c?ns given below: g;::ﬁﬁwmmm
(,(;.; x::):[};g(:;:t?lz)ne) g Choose the most appropriaganswer from the
©) \ Carbon dioxide (€O, 09 | options given bel?w: 0 )
(D) Hydrogen Sulphide (stf)\l Frrferfara famredt & & warf \QI 2 G
(E)  Question not attempted \Q _ /(7( 18.5% (B) &%
P & - e e e © 58% (D) 2%
freaffam farelt o2 e o (E)  Question not attemptedP=gafa 921
A (O | ’ v
/e(::/:ﬁﬁq (CH(4) 2. Q | 88  ‘Operation Flood’ is related tg
(C) e SEHTTERES (CO,) g Ch(')ose tfle most appropriatganswer from the
(D) g[g@'a:[m (H,S) b opt1ons‘ :glven below: &;
(E) TJaia Y (A) oail B) ‘pgpk
’ | (C) fish ‘ (D) swpter
86 Which of the following Pathu Melas are (E)  Question not attempted>
conducted in Jhalrapatan of Jhalawar in TR TS’ Helferer :
Rajasthan? e - Frffiad el f & aaifimsages sa T
2 Shri Baldeva Pashu Mel% (A) w@d By %%
b.  Gomti Sagar Pashu Melay} A (C) #=H . D & q
c. - Shri Ramdev Pashu Mels™N (E) gaiaws O
d.  Shri Chandrabhaga Pash@ela | }‘;
e. Shri Veer Tejaji Pashul\@].p 89 A shopkeeper allows successjve discounts of

Choose the most appropriate (ifiswer from the 15% and 10% on every item. He allowed an

options given below: - additional disbount to his friend. His friend paid
(A) aandconly (B) abandeonly . T 2,907 for an item marked f&? 4,000. Find the

©) c,dandeonly (D) b@ddonly percentage of additional disggunt given to the
(E) Question not attempted ¢y friend. : N :

e 3 s ST § 4 T THAAR T TG T 15%

| ‘ 10%$ra;ﬁm
aﬁ?-ﬂq-%qgﬁémﬁaﬁ?&‘iﬁr%? , T 2 B I o B R g ke e
a. o Seed uyy A e , A T 2 4,000 i TGP R 3wy
il 20 Sl Ay B 3
b. T AR Y] < ?2,907@13«%%3%&‘}@%@“
c. ey Her SR Jr i © L, -
N oft ST Oy A o (A) 4% o "
e, ﬁﬁtmqﬂm O ' (B) 7% m K- ﬁ
A R 7 freredt i & wrarfrmag g G © 6% Noa
(A) ¥mw@adlRc (B) Ffda b3fMe B . —
(©) Fadc,dAiNe DyF aéﬁbaﬂrd 3% . o Jon ?gq
© o . ! (E)  Question %ﬁempte@%“ﬂ
bEr-pi4) g S X = oo TR
.\/.(/3 Ud)veat S

CRE s




4'h Hockey Indj Junior |

Who is the captain of thel o

. o, 40% of | 94
mbers are respectively 30% and ) . ) A
g ;:v(:l::d number. What percentage is the first Men'’s National Championship 2024 for ‘Hockey
_ smber of the secon d number? Rajasthan” team?
2t gt el JEAT £t A 30% TUT 40% 2 Choose the most appropriate answer from the
qsaﬁmzaﬁa@raﬁrﬁraisrﬁm & options given below: /“
% hit [ -
7 : 2 y o (A) Meena Mohi [
(B) 40% y (B) Kamalkant ‘f
() 50% g-f'/\l ‘/3 (C) Gurjar Sachin Singh
(D) 70% 3
D) H hu Kumar Meena
(E) Question not attempted / ST T ©) manshu FEUMEE
(E) Question not attempted
w ITE T,g‘ : ﬁ £ Vﬁ aﬁmﬁ.’q =
91 Three bells ring at intervals of 9 minutes, 12 14%‘3’“ Tt <t 20247 TR
minutes and 15 minutes respectively. If they start e € ¥ AT A 82
ringing together at the same time, after how much =ttty feedl § @ aaffa® 39gw IWFA:
time will they next ring together?, . (A) i Hifed
(A) 3hours (B) 1 hour 50 min By~ HHcTRd
(C) 2 hours (D) 2 hours 30 min (© Esf(qf‘aqﬁ;g
(E) Question not attempted ;
_ . (D) fewiyyHmwRHOT
i wifeat w9 fire, 12 fme @ 15 fime & ®) P
ST I et #1 AR ¥ O W O € W W = H. -
mg&mﬁ%ﬁw@m%ﬁm%m@ - i
s 95  Inwhich game did Annu Rani win the gold medal |
&) 3 q% ®) 1%er50 e ' in the Asian Games 20237
©) 2% . o 2 e 30 ﬁ[qz ") Choose the most apéorbpriate answer from the g o7
(E) 3@ ws ' options given below:
(A) Shooting
92 'I'hree. numbers are in the ratio 3 : 4 : 6 and their . (B)  Wrestling
HCF is 9. The LCM of the number is: (C) . Javelin Thr
. 5 . : ow
AT HErE 3 : 4 1 6% ST A § U1 SHHT HCF 9 ©) Di
8 3w - LCM %: 1scus Throw
(A) 324 B) 216 ;E;) Question not attempted
(©) 540 &5 108 2023%‘?@‘4@@@&31:@%m@ﬁﬁ
(E) Questiog not attenfpted / i war b e
N fmﬁiﬁﬁmﬁﬁﬁnﬁ%mmai
e HCF of 13.5,0.9 and 12 is: (A) Fremawh :
13.5,0. T
(AS,OQWIZWHCFWHWNT&E)%: (B) Eﬁ-ﬁ'
C) 54 ) 03 (©) v ‘
(C) 1.08 D) 3 9)’ — ot i ;
(E)  Question not attémpted / :Wmﬂa T E "
DEF - B14 ] 3 " (E)  organea s D
20 e
[ Contd- |
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In Rajasthan under the.  «

96 | Mukhyamantri
Ayushman Durghatna Bima Yojana”, the amount
paid by the government, in case of death of more
than one family member in an accident is:
Choose the most appropriate answer from (he
options given below: :

(A) T¥20Lac ~ TR
B) TS5Lac .
(C) T10Lac
(D) T25Lac
(E) Question not attempted
TRYA § qEaw=ft ST FHeAT <ftat Ao, &
st Faet R 35 o A srfeen s s g
T W T fee 27
ﬁﬂ%@ﬁﬁﬁﬁﬁ%mﬁhﬁmmaﬁ
(a) 209 |
B) TsT= .
ACT 0@
D) 254 -
E) sgef@yd i
. 0
97 According to Rajasthan budget 2024-25 @™
February 2024) which of the following amount
bond is proposed to be given to girls through
‘Lado Protsahan Yojna?’ .
Choose the most appropriate answér from the
options given below:
TSR a2 2024-25 (8 T 2024) & AN
TS Shreared A § ity @ fe § A
ﬁﬁiwmmﬁmﬁﬂﬁ? .
Rreafrfae fredt & watforas guges seC gt
(A) %2,00,000
(B) 50,000
(C) 71,00,000
(D) %1,50,000
) (E) Question not attempted / 313?11’{3 a4
| PEF-B14) 8

98 In Pre-Matric scholarship for OBCs the
expenditure is shared between Center and state in
the ratio of:

Choose the most appropriate answer from the
options given below: ,

(A) 100% state sponsored scheme

(B) 70:30

(C) 50:50

(D) 100% centre sponsored schgme

(E) Question not attempted

a7 frer @t & o Afges o smafa & =9 &1

T F75 T T T o o1 2
: ﬁn%f@aﬁwﬁﬂ%wﬁ&wmma%
/(m/wO%mﬁ FErar I

(B) 70:30

(C)  50:50 . .

(D) 100% % & WErFar W

(E) ~ gaia 9

99  If the average of the nun:ibefs K,K+7,7,9,12,
15 and (2K + 1) is 9, then what is the value of
(Ki+ 1)?

FRRE@EK, (K+7),7,9,12, 1597 2K + 1) 1
MET 9, A (K2 + 1) FITHF FT?
(A) 26 B) 5
@y 10 ® 17
(E)  Question not attempted / 3TFARA war

100 Anitem was sold ata profit of 15%. If its cost had
been 5% less and it had been sold for ¥ 258 less,
the profit would have been 12%. Find the cost
price of the item.

TR A 15%amwawnm|vﬁzmmw

5% S B AT TE X 258 9 T I T8 Ry iy
©12% ERT BTl 5 e ST Ry

(A) T2,940 (B) 3,200

(C) 3,120 BT % 3,000

21 foo — 1137

(E)  Question not attempted / i gy

[C
;;T —_ Joéy on‘d...
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102

103

Which fort in Rajasthan was called the armoured
fort (Bakhtarband Durg) by Abul Fajal?

Choose the most appropriate answer from the
options given below:

(A) Taragarh (B) Kumbhalgarh
(C) Nahargarh (D) Ranthambore
(E)  Qf@stion not attempted

T Feted T Tsreur i R feg ey a?r G

fremwel
' & wraifire Jugew swU:

(A) (B) PTG
© AD) TR

®) ®RY FHFT

-

S

What arg-Rateliya, Bichhiyo and Lalar?

Choose @it most appropriate answer, from the
options gi¥en below: : !
(A)
®B)
©

,Av

Fb‘]ﬂ musical ;nstrumenf
" FoiK dances

F§ sobgs
(D) Folk drama .
(E)'" 'Question not attempted

In 2010 ich famous folk dance of Rajasthan
was inglided by UNESCO in its intangible
cultural heritage list?
Choose the most appropriate answer from the
options EVen below:

(A) Kbeliya Dance ,

(B) At Dance

©) Dance

D) T;zqh Taali Dance

(E) Qugttion not attempted

2010ﬁ®wn%:ﬁmuﬁzr«hmgaaﬁ:@m
; SONERCO) *“‘B*Hwﬁmﬁmw&aﬁqﬁa

LR —

AR) FEplETT () alﬁﬂar

DEF -

3

© TEI . D) ey
(E) St

Bl4]§

22

104

106

: Name the'folk ‘deity of Rajasthan known gg t

God of camels-

Choose the most appropriate answer from t
options given below:

(A) Mallinathji'  (B)
(C). » Tejaji | (D) Pabuyji

(E) tQuestlon not attempted

nmﬁék ATk éam =01 A1 S® 32 @ ar g

Gogaji

ﬁmﬁxﬁaaﬁm}ﬁﬁwﬁbwmmgﬁ
(A) %‘trf“ﬁm‘asﬁ (B) TV
<Dy st

(E){Sﬂ?lﬂ'd . ) :

/@ Whlcﬁafgenre of Rajasthani literature is just li

tellmg‘??d hstenmg to a story?
Chooie the most appropriate answer frpm t
opnod;ggwen below:

(A) W igat B) Jhamal
© Vaat (D) Parchi
(E) . Quest:on not attempted
wieer 3 fare fyar o st ﬁ"r aﬂw
ﬁ%ﬁwﬁﬁﬁmﬁwmmﬁ
(A) UYma B) FE
(D) st

& ‘
Which dialect of the Rajasthan is spoken in t
region of Kota Bundi, Jhalawar and Bar
regio ?"

Ch00§§éme most appropriate answer from t

optloq&gven below:
(A) Whlawi (B) Mewati
(©) ‘Dhudhari (D) Hadoti
(E) pestion not attempted
W%Eﬁ’m S, wiTenaTs affcart 4 A F
ﬁ?ﬁa‘\sﬁm?ﬁ%?
Pt R i & erertforer g 3
(A) & (B) Hardt

¢ (D7 greHr
(E) ‘Sufergsy '

red | Contd™
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107 Which of the following is not the breed of buffalo:
Choose the most appropriate answer from the
opﬁOHS giveﬂ below: ‘

110  Accordingto ‘Rising Rajasthan 2024°, Rajasthans
rank in installed wind power capacity is:
Choose the most appropriate answer from the

(A) Murrah (B) Mehsana options given below:

(C) Beetal (D) Toda i ' (A) 4t ®) 2

(E) © Question not attempted - Y © 3¢ D) 1*

frfofas ¥ & S S A Tl ¥ E) Question not attempted

P Freresl 3 & i Suges st g TRi TR 2004, & ST A

@ 7o ®) " wonfrer &t < o 3 UTedT <Rl T ©- _
Y | frerfrfa Rt # & waffires Iuge S0 T

© e Py A= \ A s - oy fdw

(€) JFuRAH | ©) T ()

‘ o (E) Hgaiawd

108 Which of the following is the correct temperature | . ‘
for cryopreservation of semen in liquid nitrogen? 111 Who among the following players of team
‘Hockey Rajasthan’ made the only goal in the

Choose the most appropriate answer from the
14% _Hockey India Junior Men’s National

options given below: : ) . : .. v

= Y T T 3P : e - Championship 2024 agams.t Hockey Haryana’?
Choose the most appropriate answer from the

TR AEAFAR? options given below:

mmﬁﬁmﬁ@“ﬁ (A) SahilRuhal  (B) . Sunil Mann

(A) -86°C @By -19°C : (C) Anurag Suthar (D) Amit Khasa

(C) -19%6°C D) -—296°C . (E) Question not attempted

(E) Question not attempted / ATARATH gt T % Frefafea & & fw ﬁgaﬁﬁ 3

' ' 4 14§gmwzmﬁmmﬁ%fﬁmﬁw 2024 ¥ g1

s ¥ Raers v M fora

109 A transmissible viral disease ‘Rgmikhet‘ is a

freffa faeedt § & waifae® I9gw ST -
(A) wfteesed (B) ¥HwHm

common disease of:

Choose the most appropriate answer from the (C) IR (D) afera @
options given below: : - (E) gaRays

. (A) Sheep ' L S

1* (B) Goat : : 112 Which of the following is a physical change?
(C) Poultry ; : . Choose the most appropriate answer from the
D) Cow options given below: '

5 (E) Question not attempted Eg; E;i:;t:::;f:?d

' o ot faee] S A e e e (C) Crystallisation
R (D) Bursting of crackers
rafaflaa fyaredt A watffys Iqg IW ﬁgﬁ Question not attempted '
" ﬁqmﬁamwaﬂﬁmﬂaam 2

(C) FATEH : (A) MISFEIEA  (B) -@}%a
oy TEE - o _Ae) freefiwr (D) ‘Er@aa']:n
@ - : ' . (B) Iqai@wd ‘

| DEF-B14] @ y 23 S [ Contd...




113 Which of the following fruits and vegetables
change their colour, when after cutting, they are
kept open for some time?

a. Apple b. Tomato
c. Potato ¢ d.  Brinjal
€. Cammot Q0
Choose the mo&l)appmpriafc answer from the
options given beldw:
(A) a,cand c@dy (B) a,bandconly
(C) b,canddonly (D) c¢,dande only
(E) Questiongidt attempted
P 2 GRS St e 3
TS T % Tl G T T o i wfede w
e O
a, ag ™~ b. THRY
<
c. AR ¢y d ST
e. MsT
ﬁﬁmﬁmﬁﬂmﬁmwﬁ
P 7S a, c I (B) Fawra,paiRo
. FaADb, ¢ d(Q{ Fa ¢, d 3 e
(E)" Aguia w0
. =
114 When a numberggincreased by 479 of
) Y 4775 % of itself,
it becomes 590. The number is:
R TE & 475 % TR AR 590'@:
Tt 1 aamg
(A) 470 o0
(B) 350 N
ey a0 O
(D) 430 ‘;"
(E)  Question@t attempted / 377wt war
115  If (150% of k) 3= 540, then the value of k js:
MR (k FT 150%XD3 = 540, T k FTHF L,
& 1080
(B) 360 8
(C) 540 ]
(D) 920 <
(E) Questwn%%t attempted / 3Tafa wer
DEF - B14 | 8 K 7‘%*,:
3 K>

117

118

@ The total number of students in a school was 750_" ‘\"

/U()

/(A-)’SO

i

As a result of new admissions in the school, the /
number of boys increased by 11% and the Number
of girls increased by 20%. If the total number of /
students in the chl became 846, then What is
the number of girlsAow?

Freft foremera 3 t b e e 750 ofy
mﬁwmmwm;ﬁm
# “%WW@ﬁﬁmﬁzmaﬁggﬁ ;.
R feramerr # Rt < gt wen 846‘a’rnéar !
asfral i adam gcrrw%o :
168 b
150
180
192

Question negtattempted / AT vF

(B)
©
D)
(E)

416280

The LCM of two gmbers is 14 times their HCF
and the sum of LEM and HCF is 600. If one of
the number is 28(pﬁilen the other number is:

2 TSy LCMy(FTHa" FHITad%) 393 HCE
(FETH FHITAd) &t 14 737 & 7T LOM (@ |
A ik H(fl?(qeﬂw THIGEdH) IR 600
19 9 ¥ o g 280 ;@i EER:

Q ®) 32

g (D) 120

Question nG\lgttempted / STt v

©) . 140
(E)

.

=

If the average of &qumbers is 12 and the averagé
of five of these nmbers is 15, then what is the
average of the remaining 1‘1umbers? '

R 8 TS iRt 12 & qur g & ot
%1 3fte 15 %.‘cﬁgmaﬁw s FT e
(A) 75 N B) 6

©) 65 \© 7

(E) Question negatt ted / b
g cmp 311?TFT“Contd
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5 - 9o N’Jpr o ‘1/\5 . ¢ ™ ‘
\* m L A 2, 3¢ T (TS
N 5 6 1 2d - b S§ & )5
2 ATS L+ Y
119 e avcr'ig:c age of\@s in a group of students is R0 Lo

“twice the number of-girls in the group and the

average age of the wlitle group of 50 students is
19.2 years. If the rgtiQ of number of boys and
girls in the group is ¢, then what is the average

122 Vast natural pastures on the high mountains, in
Garhwal region above 12;900 feet are called: .
Choose the most appr@late answer from the

options given below: o~

S e
age of girls (in years)t . (A)  Evergreen grassiddd " )
50 franii & o @@l et R sl amg g (3 Y 8y Bugyal 4 LS
A wrgferll ) e AATN T REE R |2 ' o phabar =r Pt | 21Y
amg 19.2 ¢ ] AR ﬁas%aﬁragﬁwzﬁaﬁr N © /N~
a@mﬁaﬂmct 12, @raﬂmwg@tﬁ 4% @) Teri grassland %@“' @6 4
) FTR? o e b (E) Question not attewted - T
(A). 17 /ogf) 16 a | AT &7 H, 12000wmﬂﬁmﬁm4wﬁma @
© 18 \®) 15 y ), ST R A T e A
(€)  Question not aEfopted / ST g7 5 Prrafrfa et 81 i swgm o 9 %
120 Udder secretion immediately after calving is 1 @) T 3\,‘“ 3
known as d is rich in X ABY g C) '—g}* ‘ 3y
Choose the most apprypriate answer from the €) st 5 . ol +
options given below:00 . (D) mﬁ%m%ﬂ‘cﬂ‘p S 19, gi -
(A) Calf starter, IgQIB) Colostrum, Ig A (€) wERa s > 7 ¢ < 5“3'59‘\
(C) First milk, IgE™{D) Special milk, IgM '%i\F 3z }6 o
(E) ° Question not agsmpted j
13 o &R Foria ﬁ Y arer 123 Which of the followmg‘d.;ftncts of Rajasthan had [©
uE FEETT & 3R 77 R “the highest populationSgrowth rate during the
Yi BT o ' decade of 2001-2011?

fFrfafaa frwedt § Qratfis suge o
& 169 (&) =R IgB) Fem, IgA
(C) WY, IgE D) ﬁﬁwg‘u IgM
) oA g |

<! ,

Which of the folléWing is not the pastoral
community of the Himalayas?
Choose the most appgopriate answer from the
options given belowg
(A) Dhangar  OQB) Bhootiya
(C)  Kinnauri CND)  Sherpa
(E) Question not atttmpted

referfae & & -G feserar ao g W

T &7 ) .
ferfrfier fadhedt # 8 Aaifies sugw s
AA) g (B)
© f&= . D) 9w
(p) oFafE s
DEF - B14 | B 4
Iy
.,J)"

121

3
2

-1
-

A&

3

25

Choose the most appropriate answer from the

options g.iven belo“g 8 5 Ty XT

Aa) 1J ailpur 2—0\ N ETSJ{*'IG

(B) Bikaner o ] ;

(C) Barmer /w\ s .8 T l
10

(D) Kota YO o **é-_‘;\l ﬂ

(E) Question not attempted

2001-2011 % v ¥ R # & woreng 3 3

T firet oY s q%l Ty oo 08 Ty

ﬁw%&qaﬁm’fﬁﬁﬁffﬁwawgmmﬁ: 3

A 0
* Wﬁ N i 8 4
ACY TN @ o 8040
(D) W Yo 1o 55 Q
(B) yguftaws 3t 5\\&1
%g ‘l 'STG ‘7€|C0md fo
2

R R e e
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124 Which of the following districts of Rajasthan had

125

DEF - B14 ] 5

the highest percentage of urban population in
their total population in the census of 20117
Choose the most appropriate answer from the
opti(;ns given below:
(A)  Udaipur
(B) Jaipur
(C) Kota
(D) Bikaner
(E)  Question not attempted
2011 ST F T 3 e § & R
vt 61 ety et s s 3w g e
T RIS °m?
Frfefa fredt 3§ & watfies sugw s
(A) SR =

By SR
©) =T
®) @R
() IraRaw

Which of the following statements is incorrect
about the image formed by a convex mirror'?. |
Choose the most appropriate answer from the
options given below:
(A) Itis smaller than the object.
(B) Itis virtual and upright.
(C) Itis formed behind the mirror.
(D) Itis formed on the same side of the object,
(E)  Question not attempted
I o & S S ATt wfafeia AR § Frefifaa
7 | FH-91 HY TAq 27 \
Frefefian Rt & waffores swge swog:
(A) FIgaSRIM Y
B) At Sdar dar R
O AT F S AT
(D) ATGIAAAWTH G TTM }

(B) orfaRawy

126

127

128

26

e

A3

R

Diffused reflection is caused by:
Choose the most appropriate answer from the
options given below:
(A) Concave lens
(B) . Irregular surface of the reflector
(C) Plane mirror
(D) Bright and smooth surface
(B) Qqqs!ion not attempted
forafa (arfrafir) quads 303 Fror T
Freafafaa freredt # & watfire sagem o T
(A) A
4By~ quadss &t srfafia gag
(C) uwae gdor
(D) =Ehieft 3R faet gag
(B) guiawsw
(4 is mostly used as side mirror o
vehicles. {
Choose the most appropriate answer from the
options given below:
(A) Concave lens (B) Concave mirror
(C) Convex mirror (D) Plane mirror
(E) Question not attempted
T ITANT Jfreher et & T T
wq & i amar ) | |
Frafafea et § @ waifae sugwmsw S
(A) ¥Eaas®  (B) @@ adw -
~A€) IuTw (D) uwaA T
(B) orRawx

Who is known as the father of nuclear science i
India?
Choose the most appropriate answer from B¢
options given below:
(A) Dr. Har Govind Khurana (Khorana)
(B) J.C.Bose
(C) Rishi Charak
(D) Dr. Homi Jahangir Bhabha
(E) Question not attempted
e et e R (et )
& T ST ST 9

Wﬁﬁ%ﬁa 3;'3::“ ¢
(A) = (B) 3.®LaE
(C) =< @T@ gl ﬁ‘ﬁmw
(B) orgafaws

[ Conid-"
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120 Which of the following - endoctine glands is

R = .
tnown as the master gland of the 53dy? 131 ;\ flap like elastic cartilage whighrgcts as a switch
Choose the most appropriate ' ansﬂ’«er from the clmeer (e esophagus and tracg% Is:
options given below: IR & ' Choose the most appropriate gpswer from the
(A) ~ Thymus gland (B) ° "Adfép;l gland options given below: i
(C) Pitvitary gland (D) Thyﬂii‘d gland (A) Bronchus g
(E) Question not attemptcd ' (B) Pharynx
ﬁﬁ%ﬂﬁﬁﬁmmmﬁ_ﬁwaﬁr TR o L
Rr A 29 ' ,,:y‘ ©) an:ynx )
ﬁqﬁ&f@aﬁmﬁﬁuaff&mawmgﬁ '~ (D) Epiglottis o
(A) oreRg U - (eN] (E) Question not attempted @
®) i@t A T WA (T, Jt geer qgd W S

Q) s e %ﬁ | e e ST (i 3 e fra
@) S o ] sdhedaRimr ©
®) ST ¢ g et e g 3w
130 Which of the following coﬁditiong'gte correct for (A), i g
donating the blood by a male or fétnale? (B) ftrar/srtt o)
a. The weight of a person must bgébove 45 kg. € AfewEFs . g
b. The person should not suffer ﬁoz{l any serious /(D)’ e o
disease. : R P ®) — <p
¢. Hemoglobin level in theu' gg‘od must be - e o
between 8 to 12. . o
d. The person has not donated éPDd since last | 132 Haemoglobin is present in — e
two years. Choose the most appropriate @wer from the
Choose the most appropriate aﬂsvier from the options given below: 0 ’
‘options given below: iaa (A) Both white and red bloodscdlls
(o) aandbonly - (B) ab ﬂﬁé’ conly . (B)A White blood cells. s . g
(C) b,canddonly (D) canddonly ' ;
(E) Question not attempted ‘ (C) Red blood cells
feft gew St H ¥ 0 w6 g FS % T (D) Platelets Q
frefafaa o & FA-H ﬁuﬁﬁqﬁ . (E) 'Question not attempted g
a. wwﬁﬁmaﬂ?ﬁ? kg®d =nfewl SrrvveferT T ST & N{
b. afen femet K %lﬁi‘saqﬁm}maﬁm m
5 mmﬁﬁﬁﬁﬁ?wwsﬂz%aﬁaﬁﬂ R o bupiibhiig = e o
il (A) 3t i sEE ﬁﬁaﬂﬁr@ﬁ §
o, e e 1 Rt A vt & ey e 1 C® SR
ﬁmmﬁﬁﬁﬁﬂmﬁwwwﬁl | A0 sewafweid
(o) ¥Facia b _4BF Fawa,balic (D) ufE) (R |
(©) Fawb,c3Nd Q) Fawc3hed () ot '
@) S 7 Lem  wel [C
DEF - B14 | 8 2 N g B ontq,_,

ypep = 6°
4k’ = P Tzl
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—B)

Select the correct 'statements from the following :
a. Canceriscaused by uncontrolled cell division.
b. Hepatitis-A is caused ‘by bacteria.

c. Haemophilia is a genetic disordér.

d. Leprosy is a viral disease.

Choose the most appropriate answer from the
options given below:l ' ,
(A) abandconly (B) aandconly

(C) bandconly (D) aandd only

(E) Question not attempted

et o & we frelt oy P

o Ser SRR IR R 3 ST g 2l
b. Reerafa. A SaTvyei 35 e g &1

c. ErEifm o e frer R

d

X mmm@ﬁﬂmmﬂﬁl
ﬁﬁzmﬁw@ﬁﬁ«ﬁf&mmmaﬁ

&) ¥ada, b3Rc (B) Fawasilic

(C) Fa@b3iRec Q FadaWd
(E) 3137‘1&331'%! \

is reddish brown, bean shaped
structure present in lower abdominal cavity of
human beings. | ’
Choose the most appropriate answer from the
options given below: .
(A) Thyroid gland
(B) Kidney
(C) Liver » -
(D)  Gall bladder
(E)  Question not attempted
L ChaeRETREn o) s
ST 81 :
Prferfie faeed & & waifres 3uge sac g
(A) ATy
T (D)
© I (@D
) frem (it =49
(B) Fgafawd

DEF-B14] @
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o T gY& |4 &

b. . i 3t e w

c. . JTHTH T} I

d.  FEEEg

e FfREe

R R Rt 4 erarffires g L
Fae ¢, d3it ¢ Ry raet a AN
FAbIAe () awra, b I

(E) e sy
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Identify the Rajasthani player who has not play

cricket in Indian Cricket team.

Choose the most appropriate answer from t,
options given below: :

(A) Aanantjit Singh Naruka

(B) Gagan Kishanlal Khoda

© Haplxi_riant Singh

parthasarathy Harishchandra Sharma

(D)
(E) Question not attempted
a1 e R forer st frpe A ik
& Qe Bi-
foyerferfiaa freredt & 3 watfos Jugw I
(A)  Frasta feg TR
(B) T feRITET arer
(C) oHa fiE
(D) arefereft aﬁmmﬁ
(B) STIaiaws .

Nutrionally egg is a rich source of:
a. Pfot@ins

b Iron and phosphorus

c. Unsaturated fatty acids -

d. . Carbohydrates

e. ~ VitaminE

" Choose the most appropnate answer from the

options given below:

(A) c,dandeonly (B) aanddonly
(C) bandeonly (D) a, bandconly
(E)  Question not attempted

y
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milk? - palan
Choose the most appropriate answer from the
options given below:

l N
) 1

(A) Lactose ®)., . Casem

(C) Lactalbumin (D) Lactaglobulm
(E) Question not attempted
ﬁt{%fﬁa?rﬁﬁﬁwmwﬁwmﬁm@:ﬁm
LR S

freferfiaa fersredt 3 & waiferes Suge s
(A) < By el )
(C) VRTEER (D) SRR

() IgaRkawx -

138\ The common test to check adulteration of ghee
ith animal fatis:

Choose the most appropriate answer from the

2745 ©\35]
/"S*

33

options given below:
(A) Nitric acid test
(B) Carbolic acid test
(C) Baudouin test
(D) Halphens test
(E). Question not attempted -
ﬁﬁmwﬁﬁaﬁzaﬁmzﬂ?{%m@
e e R -

Prafufaa e T8 watfow JUgH :mt%ﬁ
(A) A3 IR Tl

(B) eraifereh ST THIETOT

- (B

A goldsmith has gold of 14 carat purity and 18
carat purity. In what ratio should he mix the tW0
to make an ornament of 15 carat purity?
mm%m 14 32 & 7T 18 3 T A
15 5 T T g R
forr e PR

(A 3:1 '}_‘(B) 5:2
(C) 4:3 D) s5:4

139

Wwhich of the following is not & protein present in {

@A sum of T 23,450 is divided among A, B, C and
D such that they received the money in the ratio

" ofA:B=2:3,B:C=5:6andC:D=3:4
How much money did D receive?
?23,4SOEﬁUﬁTA,B,CﬁWDﬁWWEﬁZ‘T
é fip 3% W SRt # U@ At B=2:3,
B:C=5:67UC:D =3:4 8 Dl o a7

20ty
forem? AzE
7 :’3 3 >
(A) T8,150 (B) 8,500 5 6
_Pr 38400 (D) 8,200 g:’a’j_:‘_
(E) Qﬂz‘[}tlgn not attempted / STFARE 347 10] 5. 18: 2
23450 2
141 ‘Digilocker’ is a government cloud based
2 3
platform prov1ded application for: _Tqﬁf%-
[}
 Choose the most appropriate answer from the1<®%
A _gyse
232 optlons given below:
Zt.! (A) Storing election related data in a digital
N ;
;} form
. (B) Stonng cashina dlgltal form
(C) Storing important documents in a digital
form
(D) Storing precious metals in a digital form
(E) Question not atternpted
Fefreimr TR 0 TW Th TR AIE
TREE R
ﬁw%iﬁaﬁaﬁﬁfﬁﬁwaf&wmmaﬁ
(A) AT et IwS H fefrea w9 & T
w0 H R - |
(B) ot wi fefreet ¥ # wndia w0 % Ry
_ACT et Tt B R w1 F wmdg
w0 & fad ‘
(D) et et it RSt & & v ey 35
fw . '
(BE) orgafiawy

(E) Question 1ot ‘mempted / et w4

Q
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142 The upper limit of logn amount proposed in the

first phase(Of ‘Gopal Credit Card Scheme’ for

one year isg

Choose the\pnost appropriate answer from the
options gi&g below:
- T ShfegrTS AeAT 3 wum wwor #F yEaRa

o1 aRtT I dir v a3 R 2
i freedt 3 & walfw :mgmmgﬁ
(A) ¥2,500000 (i

¥ 50,000 -

/?Z:A 2 75%0 it ek

o ol

(E)  Questibn not attempted / ITRE ¥
o iz

143 The first ppage of “Gopal Credit Card Scheme”

proposed €m 25™ September 2024 to 8“‘
October 2% is to target reachlng how many
Gopalakf:ﬁ‘f:hes? o B, N\
Choose th&fpost appropriate answer from the
_ options given below:
@A) 11 1%

®B) 3laD

© s lai\]
© PR\

(E) Quesgpn not atteq_lpted .

Tt 3hISEIRTE AT T o =T 5 25 Ryt
. 2024 9§ 8 ITFZAX 2024 T TG 2, 1 w787 Reery

'ﬁmaﬁvf@tw@mr%‘?

SRR

(E) STgaRasd

DEF - B14 ] 3 -

e

144 Who is the minister of technical educatigy, ; in
Rajast]a"g (in Septcmbcr 2024)?
Choosélthe miost appropriate answer from the
optlont\g‘wer}‘ below:

(A) §n3t Di‘ya Kumari

(B) Sliti Kirodi Lal

©) gl?ri Madan Dilawar
(D) Dr. Pr_e'n"l Chand Bairwa

- (E)  (lestion not attempted
nmﬁ%mﬁmqﬁ(ﬁmzozﬁ)am
- (\‘

mﬁmﬁﬁﬁmﬁmmmﬁ
a)  Hieht e gty
®)  #fRist e

ey of v feamax
D) €Y7= I@ET

U ® e
: N |

145 Accortiiﬁ’ to report by Forbes India published in

S‘eptemgi:r 2024, In Indian states Rajasthan ranked
2 _in projected GSDP (FY 2024-25).

Choosc‘a:f)he most approprmte answer from the
optiong-given below: o
(A) - ODP (Eleventhy .. -.
(B) iomaird) .
©) sY(Fifth) -
(D) ?g(Seventh)
(E) . Question not attempted

I R A R, 2024 § s R
ST 6 T, Qroreerrr oot igifoa (A
2t i%na& 2024-25 ¥ A &:
ﬁqﬁmﬁwaamwm?
(A)
® v
(C) vimt
(D) wwat
(B) 3vgafa wy
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~ options given below:
(A) 900 cr - T (B) 3000 /

According  to” modified’.'Budget 2024-25 of
Rajasthan, how much money, is. allocateq under
“Doctor Shyama Prasad Mukherjee Zila Utthan
Yojana”?

Choose the most approprmte answer from the

~|'

(C) 500cr (D) 1700 cr

(E) Question not aﬁempted ‘
nmﬁaswﬂaﬁaaazzozmsé:m
<1 TTHT WS @i {57l Sedr e %aﬁm:ft

i SR T Ry

Freiffan et 3 & wrarfores Jugm st

S (A) 900 FT /@(3300&'&; —

147

148

© s0oFE (D) 700 . ;
(E) agirﬁ?fw« ‘

Where is the place of or1g1n of Luni river of
Rajasthan? .

Choose_the most appmpnate .answer, ﬁ'om the
options given below:

(A) Eastem Satpura range ‘

(B) " "Amarkantak

(C)*- Nagg-Pahar .=

(D) Angsi Glacier ,

(E) ., Question not attempted . .
Wﬁmwmmmm@
ﬁq%%ﬁﬁwﬁﬁﬁmﬁhmmmﬁi
(A) udfwageravht (B) omEHRH , |

«(C)/qmms“(n)wwﬁﬁma

(B) orqeia A

Which one of the following hot winds blows i
Rajasthan?

- "Choose the mtost appropriate answer from’ ‘the

options given below: '
(A) Sirocco . . ,(B) Khamsin. :
(C) Loo . (D) " Chinook

(E) Questmn not attempted

Tsreerr o & el ﬁ@%mﬁqﬁiﬁﬂﬁﬂ

ﬁn%mﬁﬁﬁﬁ‘}“mﬁmm?
(a) fedat B) W
A q D) fogw
(B) srgafa A

PEF:Br4) @,

149 Chulia a water fall is located in which of the
following physiograi:)hic regions of Raj asthan?
Choose the most appropriate answer-from the

options given below:

1. (A) Aravali region

(B) Westem desert plain region
(C) Eastern plain region- d
(D) South-eastern plateau re'gion
: (E) - Question not attempted ’ ]
. i s o e 3 frefafaa § @ e
A o e 2 |
frfaRaa framedl & & watfam s9g® S9CT:
@ smesfiam
(B)  afdt weeerelir Aart &
(© el
@y g vort 8
V(Ev) | _?g%rﬁaw

L

, 150 Whlch of the followmg types of forests are not

found in Rajasthan?

Choose the meost nppmpriate- aﬁ‘swer from the
' options given below: o

(A) Tidal forest

(B) Tropical thorn forest

(C) Tropical dry deciduous forest

D). Sub-tropicai montane forest
- (B) 6ﬁestidn ot attempted - Vot
ﬁnfﬁf@%ﬁmm%mwﬁwﬁqﬁm
o ,

ﬁqﬁlﬁaﬂﬁmi’tﬁmﬁmmqﬁ
AR SR I -

(B) IR HRIR T

(C) Iwrarfestha Yoo wotarelt

(D) ISR Yy T

(B) oui@ws
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